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In the figure, the battery has a potential difference of V=20V
and the five capacitors each has a capacitance of 30 uF.
(a) What is the equivalent capacitance?
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(b)  What is the voltage across capacitor C;?
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(c) What is the charge on capacitor C,?
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The figure shows a combination of four capacitors C; = C; = 8.0 uF and C, = C4 = 6.0 ul
connected to a 12-V battery.
(a) Calculate the equivalent capacitance.
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(b) Calculate the voltage across capacitor C2.
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(¢) Calculate the voltage across capacitor C1.
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(a) A 20-V battery is connected to a series of N capacitors, each of capacitance 4.0 pF. If the total
energy stored in the capacitors is 50 pJ, what is N?

U = £ Cg V

c% C;V?— L[)(_ng 'QD)

fi & WQ—L_{T‘R(_ h 2 % L)O }Jé )

(b) A 100-V battery is connected to N capacitors connected in parallel, each of capacitance 4.0 pF. If
the total charge of 1.0 C is stored on the capacitors, what is N?
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